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Circle the letter of the correct answer among the four choices given.
There is only one correct answer.

PART I - GRAMMAR

1. Lake Victoria is

lake in Africa.

A. one of the largest

C. toolarge a

B. the largest

D. larger than a

2. Let’s go on vacation to

Bahamas this summer, ?

A. @ ...don't we

C. the... shall we

B. @ ... will we

D. the ... won't we

3. If everyone

human rights, society

more peaceful.

A. respected ... must have been

C. had respected ... should be

B. would respect... could have been

D. respected ... would be

4. You
waste.

use reusable bags instead of disposable ones

plastic

A. had better ... minimizing

C. would rather ... for minimizing

B. ought to ... to minimize

D. must ... minimize

5. She at the animal shelter every weekend when she was in high

school.

A. was used to volunteer

C. used to volunteer

B. got used to volunteering

D. would have volunteered




6. She having said something so insulting.

A. apologised for

C. blamed for

B. refused to

D. accused of

7. , the investigators

all the suspects.

A. Tomorrow evening... will have
interrogated

C. Before tomorrow evening... will be
interrogating

B. By tomorrow evening... will have
interrogated

D. After tomorrow evening... will be
interrogating

8. To achieve success, it's essential to maintain a positive attitude and

through challenges.

A. persevering

C. persevere

B. perseverance

D. to persevering

9. Children should learn to tie their shoelaces

A. on one’s own.

C. on its own.

B. itself D. by themselves.

10. Many adults wish they touch with their childhood friends over the
years.

A. didn't lose C. hadn’t lost

B. haven't lost

D. won't lose




11. Demi the party, on condition that her friend her.

A. had attended ... would accompany | C. would have attended...
accompanied

B. will attend ... is going to D. will attend ... accompanies
accompany

12. Peter was unsure of sugar to add to the recipe, so he added a
little and tasted it, then added spoonfuls to get the flavor just right
A. how many ... too many C. how many ... a little more

B. how much... a few more D. how much ... too much

13. , hocturnal animals from their hiding spots to begin their

nightly activities.

A. As soon as the sun sets... emerge | C. Right after the sun sets... had
emerged

B. By the time the sun sets ... will D. When the sun sets ... will have

emerge emerged

14. Although racism and discrimination by law, unfortunately they are

still present in various aspects of our society.

A. prohibited C. are being prohibited

B. is prohibited D. are prohibited




15.

abroad next month, they
fundraiser.

to participate in the community

A. Although they had been travelling
... will have planned

C. Although they will be traveling ...
are still planning

B. Although they travel... have
already planned

D. Although they travelled ... are
going to plan

16. If the rules of the game
tournament participants

by the instructor more clearly, the
SO many questions.

A. were explained ... wouldn’t have
had

C. are explained ... shouldn’t have
had

B. have been explained ... may not
have

D. had been explained... wouldn’t
have had

17. The naughty child initially denied cookies from the jar, but her

teacher later convinced her

her mischief.

A. to have stolen ... to admit

C. having stolen ... admit

B. stealing ... to admit

D. to steal ... admitting

18. Jennifer searched
disappointment, it was

for her misplaced mobile phone, but, to her
to be seen.

A. everywhere ... nowhere

C. somewhere ... anywhere

B. anywhere ... somewhere

D. nowhere ... everywhere




19. The research team consisted of several experts in their field,
contributed valuable insights to the study.

A. all of which C. all of them

B. all of whom D. all of whose

20. He wanted to know to create Minecraft.

A. how long had it taken C. how long it had taken

B. how long has it taken D. how long it has been taking

Circle the letter of the correct answer among the four choices given.
There is only one correct answer.

PART II - VOCABULARY

21. Parents typically have __ over their children, helping them learn
right from wrong.

A. equality C. autonomy

B. authority D. equity

22. Skipping classes can have serious ___, such as falling behind in

studies and facing disciplinary action.

A. penalties C. opportunities

B. side-effects D. consequences




23. Why are you so concerned about what other people think? You don't

have to your choices to anyone but yourself.
A. justify C. modify
B. simplify D. beautify

24. The proposal of a new particle by the physicist, Peter Higgs, was a major

scientific

that allowed us to understand the creation of the universe.

A. fulfilment

C. realization

B. achievement

D. impact

25. The reason he was chosen for the art academy was that he has a very
style, which sets him apart from others.

A. mainstream C. individual
B. private D. bland
26. During Chemistry class, there was an when Sarah's experiment

went unexpectedly wrong, and there was a mini explosion.

A. example

C. alternative

B. instance

D. occasion




27. After studying for weeks, it became that Sophie’s hard work had
paid off when she received top marks on her final exams.

A. awkward

C. doubtful

B. predictable

D. evident

28. When writing an essay, it's crucial to provide

your arguments.

examples to support

A. specific

C. random

B. complete

D. vague

29. When managing your expenses, it would be a real if you could
keep track of what you have already spent.

A. drawback C. pain

B. assistance D. benefit

30. In the that a small town offers, there's a strong sense of
community among residents.

A. environment C. climate

B. nature

D. landscape

31. The speaker
wildlife photographer.

her point with a story about her experiences as a

A. simplified

C. illustrated

B. depicted

D. visualised




32. In to the defeat, the team gathered to discuss their strategy and
address areas for improvement.

A. reaction C. return

B. response D. reply

33. Due to unexpected ___, the art festival has been postponed
indefinitely.

A. circumstances C. surprises

B. negotiations D. facts

34. Due to budget __, the school had to cancel its annual field trip,

disappointing many students.

A. additions C. constraints
B. subtractions D. exceptions
35. should young children be left unattended as they can

themselves in the blink of an eye.

A. By any means ... damage C. Under no circumstances ... injure

B. By no means ... cure D. In any case ... harm




36 The new recycling program

a positive impact on the community,

reducing waste and preserving natural resources.

A. brought up

C. came along

B. brought about

D. came round

37. His passion for music played a significant role in shaping his identity and

friendships throughout high school. Many of his peers

him as a

talented musician and asked for his advice.

A. looked up to

C. looked forward to

B. looked down on

D. looked out for

38. In her Instagram post, Monica used bold fonts and emojis to her
excitement about the upcoming concert.

A. overwhelm

C. express

B. underestimate

D. downplay

39. The spicy sauce was the perfect

to the mild flavor of the tacos.

A. complement

C. ingredient

B. substance

D. extension

40. The storm clouds

the heavy rain.

A. proceeded

C. processed

B. prevailed

D. preceded




PART III - WRITING
Write on the following topic:

Is fitting in more important than being true to yourself?

Drawing from personal experience or things you’ve read or heard about, write
an open letter to your classmates answering the question above and
supporting it with arguments. Your letter will be published in the school
magazine.

Your letter should be between 150-180 words. Make sure you include
a greeting and a closing.
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MEPOX I. EPOTHYEIY ITOAAAITAHY. ETIIAOI'HY

Hopakxalovus, va GHUEIDGETE GTO ATAVTHTIKO YUIL0 OV 6aS Exel 600l To ypauua
OV AVTIGTOLYEL 6T GCWOTH ATAVTHGN Y TIS epwTHoels 1-10

1) Zamoa yprpato amd Tov adel@d Hov. (Tt €ival To VITOYPAUUICUEVO;)

a. TomTiKo 0itlo

B. B’ 6pog chyKpiong

Y. eUnpOBeTO avTIKEINEVO

d. eUTPODETOC TPOGOOPIGHAG TG OLTiog

2) Agv gmtpénovion T€To1o Aoyia uéso othy TaEn. (Tt £lvat To VTOYPUUUIGUEVO;)

a. VTOKELLEVO
B. OVTIKEILEVO
Y. KOTNYOPOVEVO
d. TPOGOOPIGHOG

3) Tng vrédet&a ta TpoPAaTo TG Epyaciog TS:

a. TPOCHOTIKY AVTOVUUIN — OEIKTIKN OVTOVLUEO — KTNTIKT ovT@vupio

B. JEKTIKN avTmvupio — dpBpo — TPOCSHOTIKY avT@Vvu i

Y. TPOCHOTIKY avTovupio — dpBpo — KTNTIKY aviovouia

d. OEIKTIKN AVI®OVLUIO — TPOCOTIKY AVTOVULUIN — KTNTIKT] OVTOVOUia
4) i VO e, dpeoa v TaéN!

a. Qoeeleite — va emPdrete
B. Qoeeleiton — va emPairete
Y Ooeireton — va emPdidete
) Oopcikete — va emPdirete

5) ' 10 mapdrTepd Tov, Tov emPARONKE aVGTNPT TOWVT. (TL EIVOL TO VTOYPAUIIGHEVO;)

a. eUTPHOETOC TPOGOOPIGHOG TNG aLTiog

B. EUTPOOETOC TPOGIOPIGUOG TOV GKOTOV

Y. eUTPHOETOC TPOGOOPIGHOG TOV UTMOTEAEGLOTOC
d. eUnPOBETOC TPOGOOPIGUAC TOL TPOTOV

6) Lov (Noa va pe Bondfoeig! (Tt ivat To VIOYPOULIGHEVO;)

a. Gpeco avTiKeipevo
B. EUUECO OVTIKEIIEVO
Y. VTOKELEVO

0. TPOGIOPIGUOG

7) Bpeite ) AéEn mov dev givan oHvOe:

o eveia

B. amovcio

Y. elenuocivn
) TPOESPOG
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8) 'Eva. and to mopoakdtom dev givar opodppllo pe ta Gl

a. TpOWPa

B. wproiog

Y. AVOPLOG
d. avTOPWPO

9) Iowa omd TI¢ TapaKaT® AEEELS dEV EIVOL TTOPAYDYT) TOV PHLOTOG «EXM;

a. oynuo
B. oyxéon
Y. oY£010
d. oyiopa

10) To vnoi avtd ovopdletarl Xikehia. (Tt €ival TO VITOYPAUIGHUEVO:)

a. VTOKEIEVO
B. OVTIKEILEVO
Y. KOTNYOPOVLEVO
) TPOGOLOPIGHOG

Mépoc I: povadeg 30
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MEPOX 1I. KEIMENO KAI EPOQTHYEIX

Mia amod Tic avOpdmIveg oYEEIC TOV £xovy vUVNOEL o OAEC TIG emOYEG ivan ) pidia. Ot
Q1MoL pog, Tpaypartt, tvot ToAOTIHLOL GLVOdOITOPOL 6T (o1 Hog, Eivol dvBpwmotl 6Tovg
0m010VG UTOPOVLLE VO BOGIGTOVUE KoL VO, GTNPLYTOVUE OTIG OVCKOAES OTLYHES KO ALTOT
LE TOVG 0moiovg Ba LolpacTOVUE TIG YOPES Hoc. E1dtkd ot maducég eiAieg ivor mhvtote
a&éyooTeS Kl av ElpaoTE TOAD TVYEPOL, Etvar TBaVO va Stapkécovv pia oAdKANpN o).

Aev vmapyet apeiBorio 6Tt 01 PIAEG TOL GPVPNANTOVVTOL GTA TOLIKA KO GTO. GYOAKA
pag xpovia etvor o1 o 1oyvpés. Exovv mdvtote Tig mo £VIoveg oVOUVIGELS OAAN KoL TO
TEPLOGATEPO KOV OTUELD, ApOV 6TV ovcio peyahdvoupe poll Le Toug TodkoHs Hog
@iAoVG Kot pall S1LHOPPDOVOLLE TOVG YOPOKTIPES KOL TNV TPOSOTIKOTNTA LG, KAOMDS
N TopovGio Tov £vOg acKel oNUOVTIKY enidpact oTov dAAo. Evkoda oyetikd, Aoimov,
TEPVALE OO TO KOWVA TAOTKA ToyvVIidlo TOL KOWVE EVOLOPEPOVTA KOIl, EVOEXOUEVWS, GE
Lwég Tov KLAOVY TaPAAAN A, S1ATNPMOVTOS TN PIMKY| Hog oxéon Yo dekoetiec. H toym
avt Oa pog eEacpariost Evov dvOpomo d1kd oG, TEPO Omd TNV OIKOYEVEL [LOC, GTOV
omoio mavtote Bo LToPovLE VO GTPAPOVLLE, OTMG KOl EKEIVOC 6° EUAG, Y100 OTO10ONTTOTE
Abyo.

dvowd, ot e€erilelg ot Lo eivon anpdPrentes Kot Ta Tpdypata 6gv KLAOVV TAVIOTE
pe tov 1010 tpomo. Eivat, emopévag, mbavd ot maducoi girot va xabovv, va unv £xovv
EMOON, YOPIc amapaitnTa aVTo va givor 01Kn Tovg EmA0YY). Q6TOG0, AKOLN KOl GE QUTN
NV TEPIMTMOT, oV KATola oTiyun 1 Cmn Toug EpeL TdAL KOVTd, Ta Xpovia Tov Ba Exovv
pecorafnoet Ba eivon cav va unv vanpéav moté kol  toAld eiiio o avalomupwbei
péoa oe AMyo Aemtd. Ooa ko av £ovv HeGOAAPNOEL, 01 KOWVEG AVOUVICELS OAAG KO TOL
vrdéAouTe GTOLYEID TOV TOVG EVAVOLY, Ba EpBovV apEcmS TNV EMPAVELQ.

211G pHépeg pog, OpmG, M évvola TG GuAiag €xel mAéov aArd&el. Ohotr pmopodpue va
Exovpe YIMAdES «PIAOVGY, TOLG OTOI0VG GTNV TTPAYLATIKOTNTA OgV Yvopilovpe, KaBmdg
dev toug &yovpe moté det amd kovtd. Eivor o1 mepipnuot dadtvokoi pog @ilot, mov
npoékuyav yopn oty e£EMEN g texvoroyiag. Efvar dpaye aAnBivég ot dtadiktvokég
@Aieg ko og moto Pabpd; H andvnom ce avtd 1o epdTNHA Eivor apKeTE SVGKOAN Kot
o1l anmoyel otiotavtat: dAlot Bewpovv 0Tt eivar pio véo popen avOpdTIvNG oYéonc,
KaBmg Tavta 0 KOGHog eEeMaceTal Kot Ogv PEVEL GTACIHOG, Kot AAA0L vtootnpilovy
OTL TPOKELTOL Y10, TNV KATOGTPOPY| TNG 0ANOIVIG £vvolag TG QIAiog.

To {pa avtd dev Ba Avbei evkora. AAAwoTte, KaB®OS 1 Texvoroyio Ba cuveyicel va
TPoodevEL, elvar mBavO va eLPavicTobV Kot VEEG LOPPES OIATNG. ZTo petald, Opms, To
ONUOVTIKO Yo Tov KaBévay amd epdg eivat vo xel KOVTd Tov avOp®Tovg mov Oyt LOvo
T0VG amoKaAel iAovg aAAd E€petl 6T umopel va Paciotel o awtolg kbbe oTryun.
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Epotiosic ns Baon to keinevo

Hopakxalovus, va GHUEIDGETE GTO ATAVTHTIKO YUIL0 OV 6aS Exel 600l To ypauua
OV AVTIGTOLYEL 6T 6WOTH amavTyon Yia TiS epwtheels 11-20

11) Tdpeova pe to Keipevo, ot Toaudikég OIAies:
a. dtatnpovvrot pio oAoOKANpN Lom
B. elval o1 o oyvpég
Y. YOVOVTOL OTOV LEYOADVOLLE
d. OLVOEOVTOL LE TOL GYOMK( LG YPOVIOL

12) Zopueomva pe to keipevo, kabmg ot moudkol epidotl peyoidvouv pali:

a. dev amoympilovion ToTé 0 £vOc TOV GALO

B. dgv €xovv oLV OAANAETIOpOGT

Y. 0 £VaG SOUOPPMVEL TOV YAPOKTNPO TOL AAAOV
d. aAAnioemnpedlovton

13) Zopuewva pe 1o keipevo, av ot modikoi idot cuvavtnOovV PETA and TOAAL ypdVLaL:
a. Ba vidBouv Eévor
B. Oa vimBouv okela
v. Oa vimBouvv adidpopa
0. OAa tvon mBava

14) Zopuemvoa pe To KeleVo, 01 SOOIKTLOKES PIATEG:

a. TPOKAALOVV S10PMVIEG

B. dev elvan BEPato 0Tt eivar aAnOvEg Qrieg

Y. nepAapPavouy avBpdmovg mov dev yvaopilovpe mparyaTikd
0. 1GYVLOVY OAO TO TOPATAVED

15) H amévinon oe avtd 10 EpOTHUA EIVOL OPKETG ODOKOAN KOL 0L OTOWELS OLIOTAVTAL:
TO10 €lval TO VOO TNG VTOYPAUUIGUEVIS PPACTG;

a. OTL LVTTAPYOLVV FVO SLUPOPETIKES ATOYELG

B. OTL VTLAPYOVV ATOYELS TOAD SLAPOPETIKEG UETAED TOVG

Y. OTLVTTAPYEL LEYAAT OTTOCTOCT OVALESH GTA A0V KOl OTIG TPAEELS
d. ot dev yvopilovpe mown givor n aAnBeia

16) Eivoi, emouévawe, mbovo o1 maudikol @ilor vo. yaBodv.... TL dNAOVEL M
VIOYPOUUIGUEVT AEEN;

a. ouvoyilet

B. cvumepaivel
Y. attoloyet
0. eme€nyet

17) Mio a6 tic avOpadrmiveg oyéoeic mov yovy vuvnbel oc 6)e¢ TG ETOYES eival 1 PLALG:
O€ OO PMVI Ko G€ ol O1a0€0M €IvVOL TO VITOYPAUUICUEVO PTILLOL;

a. EVEPYNTIKN — EVEPYNTIKN

B. Tafn T — TadnTIKn

SeAiba 4 ano 6



Y. TaONTIKN — EVEPYNTIKNY
d. EVEPYNTIKN — TOONTIKN

18) Eivau, emouévag, mbavo ot moidikoi pilol vo yabodv...: 6€ TO10 YPOVO Kol GE IOl
£yKAon &lval To VITOYPOUUUICUEVO PTLLOL;

VTOTOKTIKY) — EVECTMOTOG

VTOTOKTIKY) — 0OPLGTOG

OPLOTIKY] — EVECTMTOG

OPLOTIKY| — OTLYHO{0G LEALOVTOG

>R e

19) Aev vmdpyer ougifolio. 611 o1 @iliec mwov ocPLEPNAATOOVIOL OTO. TOLOIKG KOI OTO

OYOALKG, OGS XPOVIO. EIVAL 01 TTLO 1GYVPES. IO OO TIC TAPOKATO AEEELS efvol cuvdVLUN
LLE TNV VTOYPOUUICULEVT;

a. KaTaokeLAlovTot
B. SLUOPPDOVOVTOL
Y. wapovctdlovral
d. YEVVIOLVTOL

20) ...01 giliec mov cpLPRAATODVTOL OTA TALOIKA KOI OTO. GYOALKG. UOS YPOVIO. EIVAL O1 TTLO
10YVPEC: TL EIVOL GUVTOKTIKA 1) LTOYPAPGHEVN AEEN;

VTOKELLEVO

OVTIKEILEVO

KOTNYOPOVEVO

TPOGOIOPIGHOG

X TR

Mépog II: povédeg 30
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MEPOX III. TAPAT'QT'H AOI'OY

Na ypdyete 610 amavintikd @UALO oL cag £xet d00el éva keipevo 100-150 AéEewv
omov Oa amavtdte 610 NG EpOTNL: MTOPOUV Vo LITAPEOVY SLUSIKTLAKES PIAEC;

Mépog IITI: povadeg 40

SeAiba 6 amo 6



OEMA 1°

ZTIC MAPOKATW EPWTACELS KUKAWOTE TN HOVASLKA CWOTH anavinon.

1.

H Abon tng e€iowong 25 — 2(x — 5) — 3(x + 2) = 4x — (1 — x), eivat:

A.x=1
lhx=3

Av SUTAQCLACOUE TO HNKOG EVOG 0pBoywViou Kal TPUTA0GLACOUE TO TTAATOC TOU, TOTE:

A. t0 epBadov tou opBoywviou Ba yivel 5 popég peyaAUTEPO OO TO APXLKO.

B. n mepipetpog tou opBoywviou Ba yivel 5 popég peyahltepn amo tnv apyLkn.

I. o eppadov tou opBoywviou Ba yivel 6 popég peyahUTEPO Ao TO APXLKO.

A. n mepipetpoc Tou opBoywviou Ba yivel 6 popEg peyalUtepn amo TV apxLKN.

AlveTal €vag mpayUatikog aplOuoc x. Autog o aplBuog Ba sivat appntog av:

A. eival aképalog aplOpoc arld oL GuOLKOG.

B. éxeL ancipa dekadika Pnodia.

l. n TeTpaywvikn Tou pila dev eival aképatlog aplBuoc.

A. Sev unopel va mapel tn popdn %, Omou i, v aképatol pe v # 0.

AVo enineda oxnuarta sival tooduvapa. Tote:

A. ta 8U0 oxnuata £Xouv (0eg MEPLUETPOUG.

B. ta SU0 oxnuata €xouv ioa epPfada.

I. ta 6Uo oxAuata £xouv tov 810 aplBud mAsupwv.

A. ta §Vo oxnuota dev sival loa.

Av 6)ol oL mpaypatikoi aptBuot eivat Avoelg Tng e€iowong (32 — a)x = —f — 4, tote:

Aa=3kuf =4

Na=0katf =0

SeAiba 1 amnod 4

B.«x

A a

—4 kaL = 32
V8l koL ff = —V16
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OEMA 2°
ZTIC MAPOKATW EPWTACELS KUKAWOTE TN HOVASLKA CWOTH anavinon.

1. Aivetaw n ouvdptnon y = —2x + f§ mou Ttéuvel Tov dfova x'x oto onpeio A to omoio €xeL
TETUNUEVN Lon pe 3 kat Tov a§ova Y’y oto onpelo B. To tplywvo ABO mou oxnpatiletal amo tnv
guBeia KoL Ta onUelo TOUAG TNG UE TouG Afoveg, OMwE alveTOL KOL OTO TOPAKATW OXAUA, EXEL
epPasdd (oo pe 9 cm? . TOTE N MePUETPOC TOU TPLYWVOU LGOUTAL HE:

A.12vV45cm
B.18 cm

r.9 +3v5cm

A.16cm

MONAAEZ 12

2. Aivetat opBoywvio Tpiywvo ABT pe A = 90°. Av n epamrtopévn tng ywviog B eival Suthdota and
TO ouvnuitovo g ywviog I', T0Te n umoteivouoa tou Tplywvou BI™ £xeL unkog (oo pe:
A. to SUTAAOLo TOU UNKOUG TN MAsUpac AB.
B. to SUTAAGCLO TOU UNKOUG TNG MAsupdg AT,
l. To dBpolopa Tou punkoug Twv MAsupwv AB katl AT
A. to Suthdcio Tou abpolopatog Tou HRKouG Twv TAsupwv AB kal AT.

MONAAEZ 13
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OEMA 3°

O Tavvng ¢elyel Pe TO QUTOKIVNTO TOU amd TNV MOAN A pe KateuBuvon To XwpeLo B Kal Klveltal pe
TOXUTNTA LEWWHEVN KOTA 15 YIAOUETPA TNV WP aTto TN KEYLOTN ETUTPEMOMEVN ToxUTNTa. ETOL, 0 MNdvvng
dTAvel oto YwPLO B énetta and 3 wpec. XtnVv enotpodr, o Navvng Ba Kiveltol otabepd Ue T HEYLOTN

ETUTPENMOWEVN TaxUTNTA Kal Ba xpelaotel 2 wpeg kat 30 AemTd yLo va eMLOTPEYPEL oTNV TIOAN A.

A. Na Bpelte tn pEYLOTN ETUTPEMOUEVN TAXUTNTA TOU AUTOKLVATOU Tou Mdvvn.

MONAAEZ 15

B. Na Bpeite tnv anootacn tng moAng A amno to xwpLo B.

MONAAEZz 10
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OEMA 4°

Atvetal To opBoywvio ABI'A tou napokdtw oxnuatog ue AB = 20 cm kat BI' = 15 cm.

A 20 cm B
Z
15 cm
E
A r

A. No urtoloyioete To pRKkog g Staywviou Al kal to euBadov tou tplywvou ABT .

MONAAEZ 10

B. Av ta suBuypoppa tuApata BE kal AZ sival kaBeta otn Staywvio Al°, va uTtoOAOYLOETE TO UAKOG TOU
guBuypappou Tunuotog EZ.
MONAAEZ 15
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